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If Ale' IJ and lel Hlj[ then 4. p will (@) 45 years
. | | (b) 30 years
be : - | (c) 90 years
(@ Null Matrix - | (d) 60 years
(b) Scalar Matrix (Gv) @ o F 10 SR afda a4 3 g aomer S
(c) ~ Unit Matrix w608, @ T B -
(d) Column Matrix | (%) ®o 375
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= 8 = 2. The simple interest on asum for 3 vearsaz 1(%a pa. 2
=) (%) 457 - = = _ e - . =
;% ;:} ;& is Rs. 60, the-sum is - %
g (6) 30 | 2 o ‘@ Rs.375 :
= (H) 90 ad = = {(b) Rs. 450 =
(%) o (©) Rs.500
Average age of 20 students ! .1 class in 30 years. (d) Rs.200 _
Average age remains unaltered even if 3 new | (v) ’J(Iﬂ:l 4x* ~2 H apqrme B -
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students are admitted. The total age of three new } 8x
('ﬂ) dx? _ 2
students is * . (@) 4
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The derivative of the function 4210 is: 3. ST B Fiftr
(a) 8x : 3x+2y=5
b 4x*-2 Sx-y =
| (c) 4 Solve the equation :
d 8 | 3x+2y=5
s - Sx-y =4
SECTION - ' HYGI/OR o
wY I T 52=10 = =y PR
Short Answer Type Questions ; ; i s 4| T 24-31 T !
2. R i Z : A_[z -1
tan(+6) +5608-1 - 1+sin6 : g MAslg 4| thenfind 24037
tan & —sec & +1 cos @ i} i& 4. Fuw oR w1 R T arera 9y a9y -
Prove that o 5 Construct Histogram and Frequency polygon for given data :
tan(rr+9)+sect9—l _ 1+siné@ = = "“.;‘“:E ?E‘—]fr}[ﬂn?ﬂgfﬂ'm 0-40T40-56T50-60 E"T”T?""J-ﬁﬂ_iiﬁ:'mlim-:ﬁ:
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/OR I i RIS SRSt SR W Y N I S S
FAA/OR
ferz B - e AT R
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T0-70 [ 10-20 | 20-30 [ 30 357" . -
0-10]10 30-407 40 sura_ 66 [ 675 T70-80]

T Y B AT 168 A & T el
The ratio in the ages of A, B and C six years before was
21315, If the sum of their present ages is 168, find their
ages.

| JUW/OR

R 5% ey t{i—ﬁ e L

ZFE 1680 w9 &) wdl 81 e oammy o o b 6
el
A broker's income Rs 1680 remains unchanged though his

‘er 15 inereased 1 0 gy B —0%
percentage af br(}ktrﬁgf 15 ncreased from 5% 1o O 3 2,

Find the percentage decling in his trade.
{327
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Long Answer Type Questions

1. uﬁsinﬁx%ﬁmmmﬁqﬁeﬂna@mmﬁmi

. , . , 3
Find all other trigonometyjc ratios if siné =

5
HY/OR
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SimpliLy

E}t(n‘ - 3)+cot(2;r ~6)tan(z +0)
cot(7 + G)tan(br w9)+tnsec(

+Cosect 1
27 ~6)-cot

0 4 |
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8. qﬁAmL 4 0}@?3“5*23 # & AB % A

-1 11

T i
T AB=BA !
0 4 1
-1 2 1 B=|5-2 3
= 8= find the value of
1® A [3 _a D]a.nd_,h_ R

AB.Dose 4B=BA "
Far/OR

o A+X =2B 8 & X T T B T

A—[S 4 -5]!H: '% _2 'J}
- 0 3 9 L -

¥ = 2B, Find the value of X, where :

IfA+ .
2 1
A*{S : *S]J‘:[a -2 2]
1o 3 9
pP.T.0.
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9. F&qwmﬁwmm,mmmqﬂﬁﬁﬁmﬁm-

Calculate Mean, Median ang Mode of the given data :

_____ R S i

e TG0 [0 30 ] 20- 30 | 3040 [ a5 73573060 | 6070 7080 | 80=90 [ 9 Lﬁ‘
At i O N O i ~

Froqueney | 3 | 4 | 5 o } P T 1 16 13 5 |

woarwn | 1 Lo I
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fu o gEE F A U 9 Read S| B

Calculate mean and standard deviation of the given data

— — .
= “Tacome Group | 0-10 10-20[20-30]30-40 mnsolsn—m 60-70; TN—%0,
Sk 1
gxa_on‘.brkm P12 13 5 15 10 \ 12 \ 13

2 magd = FE | 1

= 9

= D S BT S, F A e 2 ofgeg = # &7
=Y

S T TG A e AR SHE g B
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Simaple interest on a certajn gum is of the principal.

16
Find rate of interest and time if both are equal.
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Calculate the compound interest on R 6000 for two years
if the interest 1s payable half Yearly, the rate for the first

year is 9% per annum, and that for the second year is 6%

peramlllm»
11, Rreifee G B SaET S Py -
L] A
_;-_—.-'}—+f: -+ Sinx
5 50

Find the derivative of the following function :

1
x’ X .
y=-§~+-~+x-Smx

. STeE/OR
T A S
J‘x“e’cir.
Evaluate
J’x?e’dx.
4+ 4+
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